
SAP ABAP table /BOFU/S_BCSR_RECIPIENT_K {Receipient node for the BCS}

_BOFU_S_BCSR_RECIPIENT_K

BPTTP [CHAR (3)]

NOTTP [CHAR (3)]

RECLAN [CHAR (3)]

RECTP [CHAR (3)]

REPTP [CHAR (3)]

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 /BOFU/S_BCSR_RECIPIENT_K-RECLAN = T005-LAND1 
0..N

0..N

TSOTD

OBJTP [CHAR (3)]

 /BOFU/S_BCSR_RECIPIENT_K-BPTTP = TSOTD-OBJTP 

0..N0..N
 /BOFU/S_BCSR_RECIPIENT_K-NOTTP = TSOTD-OBJTP 

0..N
0..N

 /BOFU/S_BCSR_RECIPIENT_K-RECTP = TSOTD-OBJTP 
0..N0..N

 /BOFU/S_BCSR_RECIPIENT_K-REPTP = TSOTD-OBJTP 0..N0..N


